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ZJEDNODUŠENÁ DEFORMAČNÍ METODA – VZORCE 
 
 

Vetknutí  (V) – (V)  Vetknutí 

 
 

𝑘𝑎𝑏 =
2𝐸𝐼

𝐿𝑎𝑏
 

𝑀𝑎𝑏 = 𝑀𝑎𝑏
̅̅ ̅̅ ̅ + 𝑘𝑎𝑏 (2𝜑𝑎 + 𝜑𝑏 + 3

𝑤𝑏 −𝑤𝑎
𝐿𝑎𝑏

) 𝑀𝑏𝑎 = 𝑀𝑏𝑎
̅̅ ̅̅ ̅ + 𝑘𝑎𝑏 (𝜑𝑎 + 2𝜑𝑏 + 3

𝑤𝑏 −𝑤𝑎
𝐿𝑎𝑏

) 

𝑍𝑎𝑏 = 𝑍𝑎𝑏̅̅ ̅̅ ̅ −
𝑘𝑎𝑏
𝐿𝑎𝑏

(3𝜑𝑎 + 3𝜑𝑏 + 6
𝑤𝑏 −𝑤𝑎
𝐿𝑎𝑏

) 𝑍𝑏𝑎 = 𝑍𝑏𝑎̅̅ ̅̅ ̅ +
𝑘𝑎𝑏
𝐿𝑎𝑏

(3𝜑𝑎 + 3𝜑𝑏 + 6
𝑤𝑏 −𝑤𝑎
𝐿𝑎𝑏

) 

 

 
Kloub  (K) – (V)  Vetknutí 

 
 

𝑘𝑎𝑏 =
3

4

2𝐸𝐼

𝐿𝑎𝑏
 

 𝑀𝑏𝑎 = 𝑀𝑏𝑎
̅̅ ̅̅ ̅ + 𝑘𝑎𝑏 (2𝜑𝑏 + 2

𝑤𝑏 −𝑤𝑎
𝐿𝑎𝑏

) 

𝑍𝑎𝑏 = 𝑍𝑎𝑏̅̅ ̅̅ ̅ −
𝑘𝑎𝑏
𝐿𝑎𝑏

(2𝜑𝑏 + 2
𝑤𝑏 −𝑤𝑎
𝐿𝑎𝑏

) 𝑍𝑏𝑎 = 𝑍𝑏𝑎̅̅ ̅̅ ̅ +
𝑘𝑎𝑏
𝐿𝑎𝑏

(2𝜑𝑏 + 2
𝑤𝑏 −𝑤𝑎
𝐿𝑎𝑏

) 

 

 
Vetknutí  (V) – (K)  Kloub 

 
 

𝑘𝑎𝑏 =
3

4

2𝐸𝐼

𝐿𝑎𝑏
 

𝑀𝑎𝑏 = 𝑀𝑎𝑏
̅̅ ̅̅ ̅ + 𝑘𝑎𝑏 (2𝜑𝑎 + 2

𝑤𝑏 −𝑤𝑎
𝐿𝑎𝑏

)  

𝑍𝑎𝑏 = 𝑍𝑎𝑏̅̅ ̅̅ ̅ −
𝑘𝑎𝑏
𝐿𝑎𝑏

(2𝜑𝑎 + 2
𝑤𝑏 −𝑤𝑎
𝐿𝑎𝑏

) 𝑍𝑏𝑎 = 𝑍𝑏𝑎̅̅ ̅̅ ̅ +
𝑘𝑎𝑏
𝐿𝑎𝑏

(2𝜑𝑎 + 2
𝑤𝑏 −𝑤𝑎
𝐿𝑎𝑏

) 

 

 


